

Aledo High School

Billing Information: Shipping Information: Alternate Shipping:

ALEDO HIGH SCHOOL ALEDO HIGH SCHOOL

ACCOUNTS PAYABLE RHONDA PSENCIK

1000 BAILEY RANCH RD 1000 BAILEY RANCH RD

ALEDO,TX 76008-4407 ALEDO,TX 76008-4407

PARKER US PARKER US

Phone: (817)441-8711 (817)441-8711

Fax:

Contact Name:RHONDA PSENCIK Phone: (817)308-8288 Email:rhonda.psencik@icloud.com

Squad Type: VARSITY Squad Class: CHEER Squad Group:ALL SPORTS/YR ROUND

Tax Exempt? Y On File? Tax# Expiration Date:

Tax Rate: 0 % Tax Freight? Y

Invoice Comments:

<u>#</u>	Style#/Package#	Description	Colors	Word	Qty	Unit Price	Unit Total
1	WH2213FA - Discount	VSF Women's Halter			12 12	\$102.95 (\$10.30)	\$1,235.40 (\$123.60)
2	CFCBSLIMSL3 - Discount	3 Color Com Bkgd Slim Stl	FWH FBK FOG	AHS	12 12	\$28.00 (\$2.80)	\$336.00 (\$33.60)
3	S5VC - Discount	VSF Make A Midriff-Shell			13 13	\$88.95 (\$8.90)	\$1,156.35 (\$115.70)
4	TTC5576W - Discount	Custom Lettering-Women's	ORG BLK WHT		13 13	\$18.95 (\$1.90)	\$246.35 (\$24.70)
5	S082 - Discount	VSF A-Line Skirt			13 13	\$76.95 (\$7.70)	\$1,000.35 (\$100.10)
6	WS1414FA - Discount	VSF Women's Shell			12 12	\$94.95 (\$9.50)	\$1,139.40 (\$114.00)
7	TTCBSLIM3 - Discount	3 Color Common Bkgd Slim	ORG WHT BLK	ALEDO	12 12	\$33.25 (\$3.33)	\$399.00 (\$39.96)

Order#: 33304162 Aledo High School Cust#: 22600700

<u>#</u>	Style#/Package#	Description	Colors	Word	Qty	Unit Price	Unit Total
8	S1206	VSF A-Line Skirt			13	\$88.95	\$1,156.35
	- Discount				13	(\$8.90)	(\$115.70)
9	WS197FA	VSF Women's Shell			19	\$115.95	\$2,203.05
	- Discount				19	(\$11.60)	(\$220.40)
10	TTBLDAR3	3-Clr Block Double Arch	BLK WHT ORG	CATS	19	\$27.50	\$522.50
	- Discount				19	(\$2.75)	(\$52.25)
11	SFF094	VSF A-Line Skirt			19	\$96.95	\$1,842.05
	- Discount				19	(\$9.70)	(\$184.30)
12	WS058A	VSF Women's Shell			16	\$102.95	\$1,647.20
	- Discount				16	(\$10.30)	(\$164.80)
13	TTBLDARL3	3-Clr Blk Dbl Arc Ind Ltr	WHT BLK ORG	Aledo	16	\$33.25	\$532.00
	- Discount				16	(\$3.33)	(\$53.28)
14	S012	VSF A-Line Skirt			15	\$81.95	\$1,229.25
	- Discount				15	(\$8.20)	(\$123.00)
15	PF975S	Polar Fleece Jacket			35	\$80.95	\$2,833.25
	- Discount				35	(\$8.10)	(\$283.50)
16	TTFBL2	2 Color Full Block	ORG WHT	CATS	35	\$20.50	\$717.50
	- Discount				35	(\$2.05)	(\$71.75)
17	BMFP1929	Brush MFLEX Pant			36	\$90.95	\$3,274.20
10	- Discount				36	(\$9.10)	(\$327.60)
18	MFSH13Q - Discount	MotionFLEX Short-Stock			36 36	\$31.95	\$1,150.20
10						(\$3.20)	(\$115.20)
19	V2220Q - Discount	Stock Legging			33 33	\$32.95 (\$3.30)	\$1,087.35 (\$108.90)
20		7731 134 d DIESTACA 10				· · · · · ·	
20	MFBLRV - Discount	V-Neck MotionFLEX Midrif			28 28	\$44.95 (\$4.50)	\$1,258.60 (\$126.00)
2.1		MOEM (FIEWM: 1:00				· · · · · · · · ·	
21	MFBLR - Discount	VSF MotionFLEX Midriff			60 60	\$44.95 (\$4.50)	\$2,697.00 (\$270.00)
22		25 Inch Stools - 1 M 1				· · · · · · · · ·	
22	MP25 - Discount	25 Inch Stocked Megaphone			18 18	\$31.95 (\$3.20)	\$575.10 (\$57.60)
	Discount				10	$(\psi J. 20)$	(ψυ 1.00)

4/14/2025

Varsity Spirit Fashion P.O. Box 842805 Dallas, TX 75284-2805

Page 2 of 21

This is not an invoice. Tax is an estimate.

Order#: 33304162 Aledo High School Cust#: 22600700

<u>#</u>	Style#/Package#	Description	Colors	Word	Qty	Unit Price	Unit Total
23	PF120 - Discount	Polar Fleece Headband			33 33	\$15.95 (\$1.60)	\$526.35 (\$52.80)
24	TTPAW2 - Discount	2 Color Paw Print	BLK WHT		33 33	\$8.75 (\$0.88)	\$288.75 (\$29.04)
25	UBRA25Q - Discount	Varsity Universal Bra			58 58	\$31.95 (\$3.20)	\$1,853.10 (\$185.60)

Order Total: \$30,906.65

Less Discount: (\$3,093.38)

Shipping/Handling: \$2,162.50 Less S/H Discount: (\$2,162.50)

Tax: 0 % \$.00

Total: \$27,813.27



Aledo High School

Order#: 33304159 Cust#: 22600700

US

Billing Information: Shipping Information: Alternate Shipping:

ALEDO HIGH SCHOOL ALEDO HIGH SCHOOL

ACCOUNTS PAYABLE EMILY ROBISON

1000 BAILEY RANCH RD 1000 BAILEY RANCH RD.

ALEDO,TX 76008-4407 ALEDO,TX 76008-4407

PARKER US PARKER

Phone: (817)441-8711 (817)962-7744

Fax:

Contact Name: EMILY ROBISON Phone: (817)441-8711 Email: erobison@aledoisd.org

Squad Type: VARSITY Squad Class: DANCE Squad Group: ALL SPORTS/YR ROUND

Tax Exempt? Y On File? Tax# Expiration Date:

Tax Rate: 0 % Tax Freight? Y

Invoice Comments:

<u>#</u>	Style#/Package#	Description	Colors	Word	Qty	Unit Price	Unit Total
1	MF1626H - Discount	MotionFLEX Shell			19 19	\$76.95 (\$7.70)	\$1,462.05 (\$146.30)
2	CFCBSLIM2 - Discount	VSF 2 Color Com Bkgd Slim	FWBFWH	ALEDO	19 19	\$31.25 (\$3.13)	\$593.75 (\$59.47)
3	MFS117 - Discount	VSF MotionFLEX Skirt			21 21	\$72.95 (\$7.30)	\$1,531.95 (\$153.30)
4	PF120 - Discount	Polar Fleece Headband			27 27	\$15.95 (\$1.60)	\$430.65 (\$43.20)
5	PF1431S - Discount	Polar Fleece Pullover			21 21	\$80.95 (\$8.10)	\$1,699.95 (\$170.10)
6	MNBSFN1 - Discount	Serif Block Name	WHT		21 21	\$11.50 (\$1.15)	\$241.50 (\$24.15)
7	CFFBL3 - Discount	3 Color Full Block	FOG FWH FBK	AHS	21 21	\$28.00 (\$2.80)	\$588.00 (\$58.80)

Order#: 33304159 Aledo High School Cust#: 22600700

<u>#</u>	Style#/Package#	Description	Colors	Word	Qty	Unit Price	Unit Total
8	SSMSC15	Scoop Neck Midriff			7	\$26.95	\$188.65
	- Discount				7	(\$2.70)	(\$18.90)
9	SSMSC15	Scoop Neck Midriff			19	\$26.95	\$512.05
	- Discount				19	(\$2.70)	(\$51.30)
10	MFBRA22	MotionFLEX Bra			34	\$19.95	\$678.30
	- Discount				34	(\$2.00)	(\$68.00)
11	SSBC23	Boy Cut Brief			36	\$16.95	\$610.20
	- Discount				36	(\$1.70)	(\$61.20)
12	MF1620RH	MotionFLEX Shell			5	\$87.95	\$439.75
	- Discount				5	(\$8.80)	(\$44.00)
13	CFASW3	VSF 3-CLR Arch Scrpt Word	FBK FWH FOG	Aledo	5	\$44.75	\$223.75
	- Discount				5	(\$4.48)	(\$22.40)
14	SPBASW3	Spangle Seq Burst/ Qty Pr	HBK	Aledo	5	\$18.00	\$90.00
	- Discount				5	(\$1.80)	(\$9.00)
15	MFS1526	VSF MotionFLEX Skirt			6	\$70.95	\$425.70
	- Discount				6	(\$7.10)	(\$42.60)
16	SPC-6635W	Cus Spangle Seq-Women's	HBK		6	\$27.95	\$167.70
	- Discount				6	(\$2.80)	(\$16.80)
17	DD155	Dance Dress			12	\$106.95	\$1,283.40
	- Discount				12	(\$10.70)	(\$128.40)
18	CFC40017W	Custom Lettering-Women's	FWH FOG FBK		12	\$28.95	\$347.40
	- Discount				12	(\$2.90)	(\$34.80)
19	VTTA	Varsity Tech Tank			56	\$22.95	\$1,285.20
	- Discount				56	(\$2.30)	(\$128.80)
20	2506PNM	Personalized Screen		ALEDO	56	\$9.00	\$504.00
	- Discount				56	(\$0.90)	(\$50.40)
21	IDPM2318	Sublim Polymicro Jacket			53	\$154.95	\$8,212.35
	- Discount				53	(\$15.50)	(\$821.50)
22	IDC-14092W	Cust Sublim Lett-Women's	WHT ORG BLK		53	\$5.00	\$265.00
	- Discount				53	(\$0.50)	(\$26.50)

4/4/2025

Order#: 33304159 Aledo High School Cust#: 22600700

<u>#</u>	Style#/Package#	Description	Colors	Word	<u>Qty</u>	Unit Price	<u>Unit Total</u>
23	IDBLN1	Sublim Individual Name			53	\$12.00	\$636.00
	- Discount				53	(\$1.20)	(\$63.60)
24	IDPMP210 - Discount	Sublim Polymicro Jogger			53 53	\$82.95 (\$8.30)	\$4,396.35 (\$439.90)
25	VSUP22/BUNDLEPAK25 - Discount	Sparkle Backpack			13 13	\$.00 \$0.00	\$.00 \$.00
26	MNOFBOW - Discount	Outerwear Embroidery	WHTORG	ALEDO	13 13	\$20.00 (\$2.00)	\$260.00 (\$26.00)
27	MNBSFN1 - Discount	Serif Block Name	WHT		13 13	\$11.50 (\$1.15)	\$149.50 (\$14.95)
28	KICKOFF23/BUNDLEPAK25 - Discount	Kickoff			13 13	\$176.00 (\$17.60)	\$2,288.00 (\$228.80)
29	VSUP22 - Discount	Sparkle Backpack			1 1	\$78.95 (\$7.90)	\$78.95 (\$7.90)
30	MNOFBOW - Discount	Outerwear Embroidery	WHTORG	ALEDO	1 1	\$20.00 (\$2.00)	\$20.00 (\$2.00)
31	MNBSFN1 - Discount	Serif Block Name	WHT		1 1	\$11.50 (\$1.15)	\$11.50 (\$1.15)
32	KICKOFF23 - Discount	Kickoff			34 34	\$99.95 (\$10.00)	\$3,398.30 (\$340.00)
33	VTLS - Discount	Tech Long Sleeve			6 6	\$24.95 (\$2.50)	\$149.70 (\$15.00)
34	HTARLW2 - Discount	Heat Transfer	ORS WHS	ALEDO	6 6	\$36.00 (\$3.60)	\$216.00 (\$21.60)
35	SHINE-R - Discount	Rose Lip Oil - \$18.99			1 1	\$18.99 (\$1.90)	\$18.99 (\$1.90)
36	SHINE - Discount	PH Lip Oil - \$18.99			1 1	\$18.99 (\$1.90)	\$18.99 (\$1.90)
37	SVICTORYTR - Discount	Vanilla Mist-Trvl -\$12.99			1 1	\$12.99 (\$1.30)	\$12.99 (\$1.30)

4/4/2025

Order#: 33304159 Aledo High School Cust#: 22600700

<u>#</u>	Style#/Package#	Description	<u>Colors</u>	<u>Word</u>	<u>Qty</u>	Unit Price	Unit Total
38	FT2402Q/FT2402P PKG	French Terry Pullover			20	\$44.95	\$899.00
	- Discount				20	(\$4.50)	(\$90.00)
39	B254F/FT2402P PKG	Front Design		BEARCATS	20	\$9.00	\$180.00
	- Discount				20	(\$0.90)	(\$18.00)
					Orde	er Total:	\$34,515.57
					Less D	iscount:	(\$3,453.92)
					Shipping/H	andling:	\$2,414.50
					Less S/H D	iscount:	(\$2,414.50)
					Tax:	0 %	\$.00
						Total:	\$31,061.65

Rep Name: Kelly Geary

Email: kgeary@varsity.com

Phone: (817)237-1342

Fax: (888)512-7185



Aledo Middle School

Order#: 33304158 Cust#: 25681300

Billing Information: Shipping Information: Alternate Shipping:

ALEDO MIDDLE SCHOOL ALEDO MIDDLE SCHOOL

BOOKKEEPER CHRIS SCHRECKENGAST

416 FM 1187 S 416 FM 1187 S

ALEDO,TX 76008 ALEDO,TX 76008

PARKER US PARKER US

Phone: (817)441-8347 (817)441-8347

Fax:

Contact Name: CHRIS SHRECKENGAST Phone: (817)441-8347 Email: cshreckengast@aledoisd.org

Squad Type: JUNIOR HIGH Squad Class: CHEER Squad Group: ALL SPORTS/YR ROUND

Tax Exempt? Y On File? Tax# Expiration Date:

Tax Rate: 0 % Tax Freight? Y

Invoice Comments:

<u>#</u>	Style#/Package#	Description	Colors	Word	Qty	Unit Price	Unit Total
1	RJ17 - Discount	Rain Jacket			21 21	\$24.95 (\$2.50)	\$523.95 (\$52.50)
2	SPMET61 - Discount	6 In 1-Color Metallic Pom			21 21	\$25.00 (\$2.50)	\$525.00 (\$52.50)
3	SPMET61 - Discount	6 In 1-Color Metallic Pom			21 21	\$25.00 (\$2.50)	\$525.00 (\$52.50)
4	SP61 - Discount	6 Inch Solid Color Vinyl			20 20	\$15.25 (\$1.53)	\$305.00 (\$30.60)
5	SSMV15 - Discount	V-Neck Midriff Bodysuit			19 19	\$26.95 (\$2.70)	\$512.05 (\$51.30)
6	MFSH13Q - Discount	MotionFLEX Short-Stock			4 4	\$31.95 (\$3.20)	\$127.80 (\$12.80)
7	PM1334HFB - Discount	Polymicro Pullover			17 17	\$102.95 (\$10.30)	\$1,750.15 (\$175.10)

Order#: 33304158 Aledo Middle School Cust#: 25681300

<u>#</u>	Style#/Package#	Description	Colors	Word	<u>Qty</u>	Unit Price	Unit Total
8	MNCRCI2WDS - Discount	Outerwear Embroidery	ORG BLK BLK	BEARCATS	17 17	\$22.00 (\$2.20)	\$374.00 (\$37.40)
9	MNBN1 - Discount	Individual Name Monogram	BLK		17 17	\$11.50 (\$1.15)	\$195.50 (\$19.55)
10	PMP190 - Discount	Polymicro Jogger			2 2	\$72.95 (\$7.30)	\$145.90 (\$14.60)
11	YPM1334HFB - Discount	Yth Polymicro Pullover			4 4	\$102.95 (\$10.30)	\$411.80 (\$41.20)
12	MNCRCI2WDS - Discount	Outerwear Embroidery	ORG BLK BLK	BEARCATS	4 4	\$22.00 (\$2.20)	\$88.00 (\$8.80)
13	MNBN1 - Discount	Individual Name Monogram	BLK		4 4	\$11.50 (\$1.15)	\$46.00 (\$4.60)
14	VBPT24 - Discount	Convertible Tote/Backpack			16 16	\$46.95 (\$4.70)	\$751.20 (\$75.20)
15	BGHTBF2 - Discount	Bag Transfer/Qty Pr	ORS WHS	AMS	16 16	\$26.00 (\$2.60)	\$416.00 (\$41.60)
16	BGHTSSN - Discount	Bag NameTransfer	WHS		16 16	\$19.00 (\$1.90)	\$304.00 (\$30.40)
17	CLEG24 - Discount	Cotton Stretch Legging			1 1	\$28.95 (\$2.90)	\$28.95 (\$2.90)
18	S2VRP - Discount	Powerfit Shell Top			21 21	\$110.95 (\$11.10)	\$2,329.95 (\$233.10)
19	ECMC-20272W - Discount	Cust Emb Mascot-Women's	ORG BLK WHT		21 21	\$17.95 (\$1.80)	\$376.95 (\$37.80)
20	CFDAR3 - Discount	3 Color Double Arch	FBK FWH FOG	Aledo	21 21	\$44.75 (\$4.48)	\$939.75 (\$94.08)
21	S012P - Discount	Powerfit A-Line Skirt			22 22	\$93.95 (\$9.40)	\$2,066.90 (\$206.80)
22	MNBSF1 - Discount	1 Clr Serif Block Letters	WHT	AMS	22 22	\$10.50 (\$1.05)	\$231.00 (\$23.10)

4/30/2025

Varsity Spirit Fashion P.O. Box 842805 Dallas, TX 75284-2805

Page 2 of 21

This is not an invoice. Tax is an estimate.

Order#: 33304158 Aledo Middle School Cust#: 25681300

<u>#</u> 23	Style#/Package# VBP22	<u>Description</u> Varsity Sport Backpack	Colors	Word	<u>Oty</u> <u>U</u>	\$36.95	Unit Total \$849.85
24	- Discount BGHTTLAR2	Bag Transfer / Qty Pr		BEARCAT	2323	(\$3.70) \$27.00	(\$85.10) \$621.00
25	- Discount BGHTSSN	Bag NameTransfer	WHS		23 23	(\$2.70) \$19.00	(\$62.10) \$437.00
23	- Discount	Dag Ivallie Hallstei	WIIS		23	(\$1.90)	(\$43.70)
26	VTT - Discount	Varsity Tech Tee			17 17	\$22.95 (\$2.30)	\$390.15 (\$39.10)
27	2509P - Discount	Personalized Screen		cheer	17 17	\$9.00 (\$0.90)	\$153.00 (\$15.30)
28	DBLEPRO25 - Discount	DBLE Edge Pro 25			2 2	\$107.95 (\$10.80)	\$215.90 (\$21.60)
29	SSCRO23 - Discount	Crew Neck Sweatshirt			21 21	\$33.95 (\$3.40)	\$712.95 (\$71.40)
30	MNRAS - Discount	Outerwear Embr		aledo	21 21	\$23.00 (\$2.30)	\$483.00 (\$48.30)

Order Total: \$16,837.70

Less Discount: (\$1,685.03) Shipping/Handling: \$1,175.50

Less S/H Discount: (\$1,175.50)

Tax: 0 % \$.00

Total: \$15,152.67



McAnally Middle School

Billing Information: Shipping Information: Alternate Shipping:

MCANALLY MIDDLE SCHOOL MCANALLY MIDDLE SCHOOL

BOOKKEEPER TYLER CHILDERS

1008 BAILEY RANCH RD 14700 OLD WEATHERFORD RD.

ALEDO,TX 76008-3110 ALEDO,TX 76008

PARKER US PARKER US

Phone: (817)441-8347 (817)441-8347

Fax:

Contact Name: TYLER CHILDERS Phone: (817)441-8347 Email: tchilders@aledoisd.org

Squad Type: JUNIOR HIGH Squad Class: CHEER Squad Group: ALL SPORTS/YR ROUND

Tax Exempt? Y On File? Tax# Expiration Date:

Tax Rate: 0 % Tax Freight? Y

Invoice Comments:

<u>#</u>	Style#/Package#	Description	Colors	Word	Qty	Unit Price	Unit Total	
1	SPMET61 - Discount	6 In 1-Color Metallic Pom			24 24	\$25.00 (\$2.50)	\$600.00 (\$60.00)	
2	SPMET61 - Discount	6 In 1-Color Metallic Pom			23 23	\$25.00 (\$2.50)	\$575.00 (\$57.50)	
3	PM1334HFB/POLYMICRO PK - Discount	Polymicro Pullover			12 12	\$164.00 (\$16.40)	\$1,968.00 (\$196.80)	
4	MNCRCI2WDS - Discount	Outerwear Embroidery	ORG BLK BLK	BEARCATS	12 12	\$22.00 (\$2.20)	\$264.00 (\$26.40)	
5	MNBN1 - Discount	Individual Name Monogram	BLK		12 12	\$11.50 (\$1.15)	\$138.00 (\$13.80)	
6	PMP190/POLYMICRO PKG - Discount	Polymicro Jogger			16 16	\$.00 \$0.00	\$.00 \$.00	
7	YPM1334HFB/POLYMICRO F	Yth Polymicro Pullover			4	\$164.00	\$656.00	
	- Discount				4	(\$16.40)	(\$65.60)	

Order#: 33304188 McAnally Middle School Cust#: 34970819

<u>#</u>	Style#/Package#	Description	Colors	Word	<u>Qty</u>	Unit Price	Unit Total
8	MNCRCI2WDS	Outerwear Embroidery	ORG BLK BLK	BEARCATS	4	\$22.00	\$88.00
	- Discount				4	(\$2.20)	(\$8.80)
9	MNBN1	Individual Name Monogram	BLK		4	\$11.50	\$46.00
	- Discount				4	(\$1.15)	(\$4.60)
10	SSMV15	V-Neck Midriff Bodysuit			18	\$26.95	\$485.10
	- Discount				18	(\$2.70)	(\$48.60)
11	MFSH13Q - Discount	MotionFLEX Short-Stock			5 5	\$31.95 (\$3.20)	\$159.75 (\$16.00)
12	CLEG24	Cotton Stretch Legging			5	\$28.95	\$144.75
	- Discount				5	(\$2.90)	(\$14.50)
13	CBI233GL	Glitter Vinyl Bow/Qty Pr		mms	23	\$21.95	\$504.85
	- Discount				23	(\$2.20)	(\$50.60)
14	VBPT24	Convertible Tote/Backpack			20	\$46.95	\$939.00
	- Discount				20	(\$4.70)	(\$94.00)
15	BGHTVBL2	Bag Transfer/Qty Pr	ORS WHS	A	20	\$27.00	\$540.00
	- Discount				20	(\$2.70)	(\$54.00)
16	BGHTSSN	Bag NameTransfer	WHS		20	\$19.00	\$380.00
	- Discount				20	(\$1.90)	(\$38.00)
17	S2VRP - Discount	Powerfit Shell Top			17 17	\$110.95 (\$11.10)	\$1,886.15 (\$188.70)
1.0		C- 4E 1M 4W					
18	ECMC-20272W - Discount	Cust Emb Mascot-Women's	ORG BLK WHT		17 17	\$17.95 (\$1.80)	\$305.15 (\$30.60)
19	CFDAR3	3 Color Double Arch	FBK FWH FOG	Aledo	17	\$44.75	\$760.75
19	- Discount	3 Color Double Aleii	TBK TWIITOG	Alcuo	17	(\$4.48)	(\$76.16)
20	S012P	Powerfit A-Line Skirt			18	\$93.95	\$1,691.10
	- Discount				18	(\$9.40)	(\$169.20)
21	MNBSF1	1 Clr Serif Block Letters	WHT	MMS	18	\$10.50	\$189.00
	- Discount				18	(\$1.05)	(\$18.90)
22	DBLEPRO25	DBLE Edge Pro 25			4	\$107.95	\$431.80
	- Discount				4	(\$10.80)	(\$43.20)

5/5/2025

Varsity Spirit Fashion P.O. Box 842805 Dallas, TX 75284-2805

Page 2 of 19

This is not an invoice. Tax is an estimate.

Order#: 33304188 McAnally Middle School Cust#: 34970819

<u>#</u>	Style#/Package#	Description	Colors	Word	Qty	Unit Price	Unit Total
23	SSCRO23 - Discount	Crew Neck Sweatshirt			27 27	\$33.95 (\$3.40)	\$916.65 (\$91.80)
24	MNRAS - Discount	Outerwear Embr		aledo	27 27	\$23.00 (\$2.30)	\$621.00 (\$62.10)
25	PM1334HFB - Discount	Polymicro Pullover			1 1	\$102.95 (\$10.30)	\$102.95 (\$10.30)
26	MNCRCI2WDS - Discount	Outerwear Embroidery	ORG BLK BLK	BEARCATS	1 1	\$22.00 (\$2.20)	\$22.00 (\$2.20)
27	MNBN1 - Discount	Individual Name Monogram	BLK		1 1	\$11.50 (\$1.15)	\$11.50 (\$1.15)
28	PMP190 - Discount	Polymicro Jogger			2 2	\$72.95 (\$7.30)	\$145.90 (\$14.60)

Order Total: \$14,572.40

Less Discount: (\$1,458.11) Shipping/Handling: \$1,018.00

Less S/H Discount: (\$1,018.00)

Tax: 0 % \$.00

Total: \$13,114.29